Math 099 - Assignment 2 Name \(e&
August 27, 2018 Score

Show all work to receive full credit. Supply explanatlons when necessary. This assignment
is worth 5 points.

1. Let A = {z|]z € Nand z < 12}. Translate into a complete sentence (in words) the
equation that defines the set A

A \3 THE SET OF AW X SUQW THAT X\ A NATURAL MIMBYZ
An\m Yo el Tuan \Q .
2. D={z|r € Z and ~3§x<5}

(a) Rewrite D in roster notation.

G 7
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(b) Give a verbal description for D.

D \Q THE SeT‘ oF m“('sgws RETWEEND ~ R Ano 5

INCLUDING, -3 auT NoeYT 5.
3. M = {z|x =3k + 1 and k € N}
e e 2% (a) Is 5 an element of M? Explain.
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(c) Is —14 an element of M? Explain.
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4. Sometimes, when writing a set in set-builder notation, some of the conditions are
included to the left of the “such that” (|) symbol. For example,

{r € NJz > 10} and {z|z € Nand x> 10}

describe the exact same set. Refer back to the set D above. Rewrite the set-builder
notation for D using this new idea.

;
D=9 xeZ | -3ex¢s5



